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THSEERAE (FREMK) FE(-7.5m) (T &) EARHKE

% # 1% - PRk Bfy & f * # i
B B[R 14,426, 313
AR 14,426, 313
EARRG 14,426, 313
EARRG 14,002, 100
REEHE 140, 050
1 ERETETE 1.00 140, 050 140, 050
s
HERRE - BE 451, 350
2 HFEEAHOREEN 1.00 451, 350 451, 350
E=n
EHEI 1,341,700
3 HPHEEORKRE 1.00 757,700 757,700
E=n
4 R TiEDE 2.00 292,000 584, 000
r—2
BERX O 176, 550
5 hBBERAOHH 1.00 176, 550 176, 550
r—2
ZEMEDEED 4,572,000
6 KFERERVEBREOREROBE 2.00 374, 400 748, 800
r—2
T BRRKEOHESEEN 2.00 1,911, 600 3,823, 200
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BENRE SRS EREATS (SR BHOR) B BT 5m) (FHR) BARAS
% # s - Rk ik Bif & ff & @ 1
8 MEHXOEE 2.00 412, 450 824,900
r—2
WEHT OB 307,800
9 LLBRBEHT DR 2.00 153, 900 307, 800
r—2
REROBEQD 4,074, 900
10 AFERERVEBREOREHOBE 2.00 335, 950 671,900
r—2
11 BRKE DB E R SR 2.00 1,701,500 3, 403, 000
r—2
HERTORE 824, 900
12 MEHTORE 2.00 412, 450 824,900
r—2
RE R 281, 250
13 REER 5.00 56, 250 281,250
#
EZL7 225, 900
14 EBRRRERRL 1.00 225, 900 225,900
e
i - s 587, 000
15 i - ] 5.00 117, 400 587, 000
&
mE 193, 800
16 & 1.00 193, 800 193, 800
e
BHEEH 424,213
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% [ B - BAIKTE B = fifl ® % i

EHAME 132,213

17T BAME 1.00 132,213 132,213
=

&S 250, 000

18 £ BHRRE 1.00 250, 000 250, 000
=

REE 42,000

19 EIEEREE 1.00 42,000 42,000
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Bt

% g FE - ksHiE B £ fifi ® & i
B R R 14,002,100 + 424,213 14, 426, 313
EEAGE 14,002, 100
BEERE 424,213
Z O fth IR 14,002,100 x 53.85% ( 35% = (1 — 35%) ) 7,540,130
RBIRM 14,426,313 + 7,540,130 21,966, 443
—REEES 21,966,443 x 53.85% ( 35% + (1 — 35% ) ) — 5372 11,823, 557
KBS 21,966, 443 + 11,823, 557 33,790, 000
HBREALE 33,790,000 x 10.00% 3,379, 000
RBZRTH 33,790,000 + 3,379,000 37,169, 000
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B F  BRETETE XLy
% 7 g - BIRTE B3 £ B i ) 5 &
EX T TC )
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 0.50 45, 300. 00 22, 650
& it E%¥HEH 1,00 140, 050. 00 140, 050
&S :2
B HBEEAHORTEEH XLy
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 1.50 62, 200. 00 93, 300
A (A)
A 2.50 55, 200. 00 138, 000
A (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 3.00 35, 600. 00 106, 800
& it fE%¥HEH : 1.00 451, 350. 00 451, 350
&S :3
275 HBEEOKRE XLy
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 2.00 62, 200. 00 124, 400
A (A)
A 3.50 55, 200. 00 193, 200
A (B)
A 5.00 45, 300. 00 226, 500
HEm (C)
A 6. 00 35, 600. 00 213, 600
& it fE%¥8EH : 1.00 757, 700. 00 7517, 700
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¥ HhAgh B TiAD AT 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
A (A)
A 1.50 55, 200. 00 82, 800
A (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 2.00 35, 600. 00 71, 200
Hftt &
A 1.50 31, 600. 00 47, 400
& i E¥82H0 - 1.005—R 292, 000. 00 292, 000
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275 LEBHEER KDL 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 1.50 45, 300. 00 67, 950
HEm (C)
A 1.50 35, 600. 00 53, 400
& i E¥82H0 - 1.005—R 176, 550. 00 176, 550
ES:6
B KERERVESREOREEDRE 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 0.50 62, 200. 00 31,100
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 2.50 35, 600. 00 89, 000
Hftt &
A 2.00 31, 600. 00 63, 200
& i 2820 - 1.005—R 374, 400. 00 374, 400
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E&S:7
B BRREDOHER SR 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX T TC )
A 2.50 62, 200. 00 155, 500
A (A)
A 10. 50 55, 200. 00 579, 600
A (B)
A 11.00 45, 300. 00 498, 300
HEm (C)
A 15.50 35, 600. 00 551, 800
Hftt &
A 4.00 31, 600. 00 126, 400
& i E¥82H0 - 1.005—R 1,911, 600. 00 1,911, 600
S :8
2 BERXOEE 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 2.00 35, 600. 00 71, 200
Hftt &
A 3.50 31, 600. 00 110, 600
& i E¥82H0 - 1.005—R 412, 450. 00 412, 450
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5:9
£ EEBREEE T OB 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.50 35, 600. 00 53, 400
& i E¥82H0 - 1.005—R 153, 900. 00 153, 900
H5:10
B KERERVESREOREEDRE 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 0.50 62, 200. 00 31,100
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 2.50 35, 600. 00 89, 000
Hftt &
A 1.50 31, 600. 00 47, 400
& i E¥82H0 - 1.005—R 335, 950. 00 335, 950
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#5511
B BRREDOHER SR 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX T TC )
A 3.50 62, 200. 00 217, 700
A (A)
A 6. 00 55, 200. 00 331, 200
A (B)
A 12.00 45, 300. 00 543, 600
HEm (C)
A 14.00 35, 600. 00 498, 400
Hftt &
A 3.50 31, 600. 00 110, 600
& i E¥82H0 - 1.005—R 1, 701, 500. 00 1,701, 500
H5 :12
B BERTORE 15—2%Y
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 2.00 35, 600. 00 71, 200
Hftt &
A 3.50 31, 600. 00 110, 600
& i E¥82H0 - 1.005—R 412, 450. 00 412, 450
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H5 13
& REER 1HMEyY
% 7 g - BIRTE B3 £ B i ) 5 &
A (B)
A 0.50 45, 300. 00 22, 650
HEm (C)
A 0.50 35, 600. 00 17, 800
Hftt &
A 0.50 31, 600. 00 15, 800
& i YEZERES : 1. 008 56, 250. 00 56, 250
H5: 14
B EFTERBEEER XLy
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.50 55, 200. 00 82, 800
A (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it fE%¥HEH : 1.00 225, 900. 00 225, 900
H5 : 15
2 %E - |E H=ER,
% 7 g - BIRTE B3 £ B i ) 5 &
EX: T TC D)
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& it YEZERES ¢ 1.00ME 117, 400. 00 117, 400
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H5: 16
4 g K - BIRTIE B4 = B @ ] i &
F{EHRAD (B&EH
A 1.50 62, 200. 00 93, 300
BEm (A)
A 1.00 55, 200. 00 55, 200
B (B)
A 1.00 45, 300. 00 45, 300
& H) 1EZ£8EH : 1.00K 193, 800. 00 193, 800
&H5 17
&% FHARE 1X&Y
4 g K - BIRTIE B4 = B @ ] i &
EHERARE
= 1.00 132, 213. 00 132, 213
& H) 1EZ8EH - 1. 00K 132, 213. 00 132, 213
&5 :18
2% EBHRRE 1Ky
4 g K - BIRTIE B4 = B @ ] i &
EBHRRE
= 1.00 250, 000. 00 250, 000
& H) 1EZ£8EH : 1.00K 250, 000. 00 250, 000
H5:19
2% MIERAEE 1X&Y
4 g K - BIRTIE B4 = B @ ] i &
E-AYUTREE
= 1.00 42,000.00 42,000
& H) 1EZ8EH - 1. 00K 42,000. 00 42,000




